1.

TIME AND WORK BY ALOK SIR

if A and B together can complete a piece of work in

15 days and B alone in 20 days, in how many days

can A alone complete the work ?

gfe A 20T B fordt o =t 15 fool o " Tahd 2
qAT B 3Tehet 39 hTH okl 20 fai O s gahat 8, T
A ST 30 I Y Ry Rt & v 2

(a) 60 days (b) 45 days

(c) 40 days (d) 30 days



2.

A can complete 1 of a work in 5 days and B, 2 of

3 5
the work in 10 days, In how many days both A and
B together can complete the work ?

A T & o1 L o s i § ofe s s 2
9T o 10 & ¥ T Wehd €, a7 A 3T B g1

et & Rl fohae fail §f @ |
(a) 10 days (b) 9% days
(c) 8ﬂ days (d) 71 days

= a



3. A alone can do a piece of work in 6 days and B
alone is 8 dyas, A and B undertook to do it for Rs.
3200. With the help of C they completed the work

in 3 days. How much is to be paid to C ?

A T&HT el ol 3Tehet 6 T&AT B S UahdT € 3B
3Tche foRdt ohTel oht 8 faT § T HehaT & | A 3T
B . 3200 H o1& ¥ ol fTAERT ot 31X ¢ i
Teg W I8 ol ol 3 foat o @ & faa, ot
Tt AT W | € oAt Tepaar fegam g ?

(a) Rs.375 (b) Rs. 400

(c)Rs.600 (d) Rs. 800



4. A man can do a piece of work in 5 days, but which
the help of his son, he can do it in 3 days. In what

time can the son do it alone ?

T =fth ferelt @ Bt 5 feel o WeRar €
AR U A hi WETAAT € 98 T ol 3 ot
T AT 8, AT ToT 3Tehel SH h1d i fepa foml
R HHAT S ?

(a) 7 days (b) 8 days

(c) 7% days (d) 6% days



5.

A and B together can do a piece of work in 8 days,
B and C together in10 days, while C and A together
in 6 days, if they all work together the work will be

completed in:

AIRBT friFmMAIg eI A A &, B
AR ¢ faeTert 3t & r 10 faf ¥ & B,
Sdfeh € 3R A faeTat 6 fai #f v @ &¥d B
fe Tl Teh |1 R Y dF kA Teha faqt &
AT B ST ?

3 3

(a) 3Z days (b) 37 days
5 q

(c) 5ﬁ days (d) 4§ days



6.

A and B together can complete a piece of workin8
days, B alone can complete that work in12 days. B
alone worked for four days. After that How long

will A alone take to complete the work ?

A 3T B Taetent fertt st <Rt 8 oA ® T e
Thd &1 B3ThA hA hl 12 [l § T HehaT &1 B
3The 4 Tl ek I AT B, IHS U A
3Tehet 3 ehT <kt TeRar faeilt o qur e 2

(a) 15 days (b) 18 days

(c) 16 days (d) 20 days



1.

if A and B together can complete a piece of work in
18 days, B and C together in 12 days. All of the three
together can complete the workin 6 days. Aand B
can do the work for 4 days then A can together

complete the work in ?

A 31 B faeTart fereit v Rl 18 fai &, B 3R
ST A ol 12 T&1 § T o Tahd &1 Tfe d=
fireTeRt T Rt 6 TaAl § |UTW T Hehd 2 @l A
3T B 3ThcT 4 &1 ok /T d & 3T A ket
3 HH okl fera faTi § @ /T ?

(a) 8 days (b) 10 days

(c) 12 days (d) 20 days



8.

if A and B together can complete a piece of work in
18 days, A and C together in 12 days and B and C

togetherin 9 days, then B alone can do the workin

Ifg A 3T B fiacTent forslt v i 18 faAT ), A
3R ¢ fireTert 12 fat o 2 B 3T ¢ faeTert 9 famt
H o Hehd B, Al B 3TheTT 3§ hIH okl Teha a1
T SR ?

(a) 18 days (b) 24 days

(c) 30 days (d) 40 days



9.

A can complete g of a work in 8 days and B can

complete g of the work in 6 days. In how many

days can both A and B together complete the work
?

ATEEmH 2 a8 i A ware w3
Hl 6 fol T T TFd &, AT A 3R B A1

faeTent e @Rt Tohae foat o quTe st ?
(a) 3days (b) 5?—1 days
(c) 3% days (d) 2% days



10. P can complete % of a work in 10 days, Q can

complete 40% of the same work in 145 days. R,

completed % of the work in 7days and S, é of the

work in 7 days. Who will be able to complete the

work first ?

Pﬁﬁﬁww%ﬂmioﬁﬁﬁwwm
2, Q SHI W T 40% T &l 145 a7 T FHTE
T HehaT 21 Rmaﬁ%misf?ﬁ‘fﬁws
& @ L 7 Rt # o aw wew €, @
I FEH TEC SHIH TeH hidTl ?

(a)P (b)Q
(R (d)S



11. A, B and C individually can do a piece of work in10
days, 12 days and 15 days respectively. If they start
working together, then the number of days

required to finish the work is ?

A,BTYT € ToRET shTH Rl ShA9T: 10 T, 12 fa= e

15 &7 & o Wahd | A 910 91 &8 &, @
R fepat foT W @IS BT 2

(a) 16 days (b) 8 days

(c) 4 days (d) 2 days



12. A and B together can do a piece of work in 12 days.
While B alone can finish it in 30 days. A alone can

finish the work in

A 3T B TaeTent fanslt o e =it 12 fat ° ot T
&, STafeh B 3Tehel W ohIH <kl 30 o ® |uTw
& Rl &, @1 A kel & &l fora fat &
T hT ?

(a) 20 days (b) 25 days

(c) 15 days (d) 18 days



13. A, B and C can complete a piece of work in 12, 24
and 36 days respectively. They will together

complete the same work ?

A,B AT € fREt 19 Rl SHUST: 12, 24 99T 36
fai # o Gahd &, @7 diF1 (HeTeht 3§ A &l
feram Tt & wwTwT i ?

(a) 5% days (b) 4 days

(c) 6% days (d) 6 days



14. Two men undertook to do a job for Rs. 1400. One
of them can do it alone in 7 days, and the otherin 8
days. With the assistance of a boy they together
completed the work in 3 days. How much money

will the boy get ?

ar SRl 3 . 1400 U Tah ShiW hi oAl Sohl
foram 37 | Tk 39 W w7 T W R weRan
e, Sefer O 3@ 8 foAl o o WehaT &1 TR
TISch ohi T&MEdl ¥ S 3 fai § & T o
faa, ar dgeh &l fohas ®u faeTt ?

(a) Rs. 300 (b) Rs. 325

(c)Rs.275 (d) Rs. 250



15. While working 7 hours a day, A alone can complete
a piece of work in 6 days and B alone in 8 days. In
what time would they complete it together

working 8 hours aday ?

A,7 Ti¢ QfafeT e &tk Teh &H &l 6 i |

TUTH HIAT &, STalfeh B 3o &t & yiafeT s
H{eh ST ST okt 8 Tl § TS STaT 31 o St
faeTat 8 ©i¢ WfdafeT ohIH ich hIH <Rl Teha™
fa it o wew w2

(a) 3days (b) 4 days

(c) 25 days (d) 3.6 days



16. Working 5 hours a day, A can complete a piece of
work in 8 days and working 6 hours a day, B can
complete the same work in 10 days. Working 8

hours a day, they both can complete the work in

A5 Tie Yfdafe ohH ohteh feohdl T ol 8 Tai o

TUTE oh TehdT &1 Wefeh B SHT AT ol 6 Ee
gfafeT | & 10 fat o | &t Jehdt 2
afe gl TieTant 8 e ufdfe shre et & df s
feram foii o @ew g 2

(a) 3days (b) 4 days

(c) 25 days (d) 3.6 days



17. A and B can do a piece of work in 10 days, B and C
candoitini2 days. C and A in15 days. In how many
days will C finish it alone ?

A 3T B fordt ore @l 10 fe=t /), B 31T c 12 Tt
H 9T € AR A 15 T § T Gahd 8, °@T € 3Tehct
& feorae famt W @ /i ?

(a) 24 days (b) 30 days

(c) 40 days (d) 60 days



18. A man,a woman and a boy can complete a piece of
work in 20 days, 30 days and 60 days
respectively. How many boys must assist 2 men
and 8 women as so to complete the work in 2
days?

1 &, 1 B eI 1 TSkt Tehdl hTH ohl THAIT: 20,
30 9T 60 feHl U AU o Wehdl &, a1 a1 foril o
HTH G A o 19 2 J&Y a9 8 faret o arg
fohae TSRl st STed BTt ?
(a)8 (b)12
(c)a (d)6



19. If A and B together can complete a piece of work in
12 days, B and C together in 15 days and C and A
together in 20 days, then B alone can complete the

work in

gfe A AT B fordt sve oAl 12 e °, B3R C, 15
fa=i o e ¢ 37 A 20 foii ° &a &, < B 3Tehet
3T /W ot ferae faat | s ?

(a) 30 days (b) 25 days

(c) 24 days (d) 20 days



20. One man and one woman together can complete a
piece of work in 8 days. A man alone can complete
the work in 10 days. In how many days can one
woman alone complete the work ?

1 & T 1 WfgeT feter feret s =hl 8 Tt o
THTE T Tehd €| Toh JEW I Tl 3Thel 10
fei o HuT WY HeRat €, 9 Ueh HigeT 3Tehell

R ohl fehra= oot § ST St ?
(a) % days (b) 30 days

(c) 40 days (d) 42 days



21. A and B can separately do a piece of work in 6 days
and 12 days respectively. How long will they
together take to the work ?

A TUT B ATT-3TT {RET SR Rl SHAIT: 6 TaAl
TAT 12 TET H T Hohd , 7 1 (HAHT ShIH <Rl
feramr fat ® wwTE R ?

(a) 9 days (b) 18 days

(c) 6 days (d) 4 days



22. Acando 1 of aworkin5 days and Bcando 2 of the

6 5
work in 8 days. In how many days, can both A and
B together do the work ?

Aﬁwﬁwaﬁ%msﬁﬁﬁaﬂmﬁ,a‘rs
fereft enrer o1 2 ot @ fot & ot kel €, A A
3R B facTent Torae fa=t § ovie |HTE ST ?

(a) 12 days (b) 13 days
(c)15 days (d) 20 days



23. A can do a piece of work in 20 days and B in 40
days. If they work on it together for 5 days, then
the fraction of the work that left is
A T B fordl s <At shuvT: 20 f&AT @1 40
fomt o T HeRa &1 Ife It fuetet 5 Tl @
HTH I 8, A FeRa=T RIS T8 19T ?

@3 (b) 2

7 1



24. A can do a piece of work in 20 days and B can do
the same piece of work in 30 days. Find in how

many days both can do the work ?

A et e <Rt 20 fa=t & 99T B SEt 19 <Rl 30
fa i ® T HehaT &, A Sl (HeTehT ShiH okl Toha
o o TS T ?

(a) 16 days (b) 14 days

(c)10 days (d) 12 days



25. A and B together can dig a trench in 12 days, which

A alone can dig in 28 days : B alone can dig it in

A 9 B fiaetet 12 fat # uek Teer |ie ued 2
A 3TheY 28 Tol o TTeer Wi UehdT &, a1 B 3Tehdd
foram fe=t o Treer @iem ?

(a) 20 days (b) 21 days

(c) 22 days (d) 23 days



26. A sum of money is sufficient to pay A’s wages for
21 days and B’s wages for 28 days. The same

money is sufficient to pay the wages of both for :

T THT | A T 21 feT ot Asiglt 7o B =i 28
T ot Tt S < Wkt €, A Qi SR SHT T

¥ feram et it worgdt <t < et € 2
(a) 12% days (b) 12 days
(c) 241 days (d) 12 days

2



